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Nucleoplasm
Nuclear membrane
Nucleoli

Nucleoli fibrillar
Nuclear speckles
Nuclear bodies
Endoplasmic reticu
Golgi apparatus
Peroxisomes

9. Endosomes

16. Lysosomes

11. Intermediate fila
12. Actin filaments
13. Focal adhesion si
14. Microtubules

15. Microtubule ends
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https://www.kaggle.com/c/human-protein-atlas-image-classification
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https://www.kaggle.com/c/malware-classification
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comment_text

Explanation\nWhy the edits made under my

usern...

D'aww! He matches this background colour I'm

S...
Hey man, I'm really not trying to edit war. It...

"\nMore\nl can't make any real suggestions on

You, sir, are my hero. Any chance you

remember...

toxic

severe_toxic

obs

https://www.kaggle.com/c/jigsaw-toxic-comment-classification-challenge

EIFEREFE S V2 ¢ https://courses.d?l.ai/zh-v2



https://courses.d2l.ai/zh-v2

O

o JBI Z K53 K

=

- BESIERED
- B2AKXIE R
- IRESKERIXBIEAIKR

0@

EIFEREFE S V2 ¢ https://courses.d?l.ai/zh-v2



https://courses.d2l.ai/zh-v2

MEIFRIZRTK — HFHK

s WEFHIT NI B NLRE
Y =[y5 Y0 oo Yl

¥, = { lifi=y
0 otherwise
- R BImKRIIZR
+ BN EH TN
y = argmax o;

l

EIFEREFE S V2 ¢ https://courses.d?l.ai/zh-v2



https://courses.d2l.ai/zh-v2

MEIFZIZ RT3 — FERIELLH!

 WERHHIT LB YRS
- R NEERAFN

A

y = argmax o,
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- AL ULECHI=R (JFf, AN 1)

y = softmax(0)
exp(0,)
Y, =
z k eXp(Ok)
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Softmax F3E X jiEfs ok @

 XBEAREEFH MEENXT Hp,q) = Y - p,log(g)
- BEIERRK

I(y.9) = — ), y;log3; = —log$,
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aoil(Ya }A’) = SOftmax(o)i —
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